IMPOI'PAMA
BCTYIHOIO icIUTY 3 iHO3eMHOI MOBHM (aHTJliiicbka MOBa)
NPH NPUIOMi HA HABYAHHS JJIA 3100yTTS CTyIleHs MaricTpa

1. 3arajnHi HoJI0KeHHSHA

Hana IIporpama po3paxoBaHa Ha BCTYIMHHUKIB(IIb), SIKI BCTYIAOTh 0 YHIBEPCUTETY Ha OCHOBI
3100yTOTr0 CTyIEeHs MaricTpa (OCBITHbO-KBaTi(DiKaLiHHOTO PIBHS CIIEIialicTa).

MeTor0 BCTYIMHOI'O IiCIUTY 3 aHIJIIACHKOI MOBH € OI[IHUTH BiAMOBIAHICTH PIBHS BOJIOIIHHS
AHTIIICHKOI0O MOBOIO BCTYIMHHKOM(IICI0) BUMOTAM IIporpamMu (O4iKyBaHMM PIBEHb: HE HIDKYE
cepenuaboro (Intermediate). Icmut mnpoBomuThcs y GOpMi MHUCBMOBOTO TECTYBaHHS Ta
cknagaerhbes 3 60 muranb, Ha K1 BigBoauThed 1 roguna 20 xB.

2. 3micT nporpamu

IcnuT OuiHIOE 3HAHHSA AHMIIHCBKOI IpaMaTHKH, CUHTAKCHUCY Ta CIOBHUKOBHMM 3amac i Moxe
BKJIIOYATH 3aBIAHHS 3 YATAHHS, CTPYKTYPYBaHHS MOBH, PeJaryBaHHs Ta 3alIOBHEHHS TPOO1ITIB.

OuikyeTbes, M0 KaHAUIATH MAalOTh 3MOTY: TMPOJAEMOHCTPYBATH 3JaTHICTh 3aCTOCOBYBATH CBOT
3HAHHS Ta KOHTPOJIb HAJl MOBHOI CHCTEMOKO IIISIXOM BHKOHAHHS PsIy 3aBJaHb Ha pPIiBHI
PO3yMIHHSI TEKCTY Ta (POPMYBaHHS PEYCHB; MPOJEMOHCTPYBATH HABUYKH YUTAHHS Ta OOPOOKHU
iH(dopmalii, BKIIOYAaIOUd PO3YMIHHA KOHKPETHOI TEeMAaTHUKH, OCOOIMBOCTI OpraHizaiii TEKCTY,
HACJIIJIKH, 3B’ SI3KU Ta CTPYKTYPY JIOT1YHOT ITOOYTOBH TEKCTY.

OcCHOBHUI rpaMaTHYHUI Ta CHHTAKCUYHUI MaTepiai BKIIOYA€E TaKi CTPYKTYpH:
e JIi€CIIOBA Ta iX Yacu (aKTUBHUH, TAaCUBHUN);
e  YMOBHICTb, MOAAJIBHICTh, FTEPYHAIH Ta 1HII POPMH Ta KOMIUIEKCH JI1€CIIB;
e aptukdii (a, the, zero article);
e (dopMH BUPKEHHS KITLKOCTEN Ta aOCTpaKTHUX MOHATH (any, some, no, many, much);
o 3aiimeHHHKH (personal, possessive, reflective);
e TPHUKMETHUKH:
e NPUNMECHHUKHY;
e TIPUCIIBHUKHY;
e YHCJIBHUKH;
e CKJIAJHOMIJPSAHI PEUEHHS Ta iX CIOJYYHUKH;
e MYHKTYyallisl.

CnoBHUKOBHUI 3amac MepeBIpAETbCS B MeXax TaKUX TEM: OCBITa; HpodeciiiHa isIbHICTS;
MOJOPOXK/TYpU3M; X001; COIlladbHI BIJIHOCHHHU; OI3HEC, €KOHOMIKa; KYJIbTypa 1 MHCTEITBO;
OXOpOHA 37I0pOB'sl; KOPIOPATUBHE YIPABIIHHS; JepKaBHUN YCTpil 1HILII.

3. CTpyKTypa BCTYNIHOI0 TeCTYBAHHS

SECTION I. Reading Comprehension: nepeBipka po3yMiHHs TEKCTIB aHTJIIICHKOI0 MOBOIO.
[ToTpiGHO MpOYUTATH 3aMIPOTIOHOBAHUM TEKCT Ta BIAMOBICTU HA 3alIUTAHHS.

Task 1. Read the following text and decide if each statement below is true (T) or false (F)
Task 2. Read the text below and decide which word A, B, C or D best fits each space.
Write in the chosen letter in the gaps below.



SECTION II. Use of English: mepeBipka BMIHHS pO3Mi3HABaTH Ta BUKOPUCTOBYBATH JIEKCHKO-
rpaMaTU4Hi €JIeMEHTH aHTJIHCHKOI MOBH Y pEUCHHSIX.

Task 3. Choose the most suitable word or phrase to complete each sentence.
Task 4. Find the one underlined word or phrase that must be corrected.

4. PexomeH10BaHa JiiTepaTypa:

Advanced Language Practice / Vince, M.: MacMillan, 2003;

Advanced Learners’ Grammar/ Foley M., Hall D.: Longman, 2003;

Cambridge English First Handbook, 2016;

Cambridge Preparation for the TOEFL Test/ Gear J., Gear R.: Cambridge University
Press, 4th edition.

English Grammar in Use/ Murphy R.: Cambridge, 3rd edition;

FCE — 2 Use of English/ Evans V.: Express Publishing, 2000;

First Certificate Language Practice/ Vince M.: MacMillan, 2003;

Grammar & Vocabulary for Cambridge Advanced & Proficiency/ Wellman G.:
Longman, 2002;
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5. Kpurepii ouiHroBanusi

Berynuuit icut 3 aHTIiChKOi MOBHM OLIHIOIOTHCS 3a mkanoro Big 100 mo 200 Gamis, nme
MiHIMaJIbHUM 3210BUIBHHUM Oall, 3 SKUM BCTYMHHK(IIS) AOMYCKAEThCS O Y4acTi y KOHKypcl —
100. KoxHe muTaHHS TECTy OLIHIOETHCS B OAMH Oan. BerymHuk Moxe orpumaru 3a icnut Bix 0
1o 60 6auiB, siki mepeBoaATbes B mikaty Big 100 go 200 3a HACTYMHOO TaOJIUIICIO TEPEBEACHHS:

KinbkicTh Omninka 3a KinbkicTh Omninka 3a KinbkicTh Oumninka 3a
0aJjiB 3a BCTYNHM I OaJiiB 3a BCTYIHU I oaJiB 3a BCTYNHM I
TEeCTYBAHHA icnur B TeCTYBAHHA icnuT B TeCTYBAHHSA icnuT B

HIKAJi Bix IIKAJi Bix HIKAJI Big

100 xo 200 100 xo0 200 100 xo 200
60 OaiiB 200 46 GamniB 177 32 oann 137
59 baniB 199 45 6amniB 175 31 6an 134
58 OaiiB 198 44 oanu 173 30 GamiB 131
57 6anis 197 43 oanu 170 29 OaiiB 128
56 OaiiB 196 42 Gann 167 28 GamniB 125
55 OaniB 195 41 6an 164 27 OaiiB 122
54 6anmu 193 40 OainiB 161 26 OaiiB 119
53 G6anmu 191 39 GamiB 158 25 OaiiB 116
52 6anu 189 38 OamiB 155 24 oanmu 113
51 6an 187 37 GamisB 152 23 Oanm 110
50 6amiB 185 36 GamiB 149 22 Oanmu 107




49 bainiB 183 35 GamniB 146 21 6an 104
48 GaiiB 181 34 oamm 143 20 OaiiB 100
47 GaiiB 179 33 banu 140 0-19 6axnis HE CKJIaB

6. 3pa3ok BcTynHoro icnuty y opmi Tecty
SECTION I. Reading Comprehension
Task 1. Read the following text and decide if each sentence below is true (T) or false (F)

Living in the city may have bad influence on one’s hearing. Car horns, buzzing motorcycles,
construction site noise — these all are sounds of daily city life. As the size of our cities increases,
so does the noise level. Traffic noise seems to be the worst, and unfortunately, traffic intensity is
expected to increase by 30 percent in the next 15 years.

According to the recent research, almost 20% of city residents suffer from very high noise levels.
Although at first doctors thought that ‘noise pollution’ was simply unpleasant, new studies have
shown that continued loud sounds can seriously affect human health. An advisor to the World
Health Organization (WHO) has explained that noise causes stress, and this type of stress limits
blood flow to the important organs in a human body. People who live on busy streets usually
have higher blood pressure than those who live in quiet places. Pregnant women who live near
airports more often have premature and underweight babies, as a result of harmful hormonal
changes because of loud sounds.

The WHO has concluded that environmental noise in residential areas in cities should not be
more than 55 decibels, although some people, especially those with heart problems, are sensitive
to levels starting at 35 decibels. If a person listens to noises of 80 decibels for a long time, he or
she will have physical discomfort which later may lead to the loss of hearing ability.

# T/
=

1. | According to the author, traffic is the main reason of extra noise in the city

2. | In 15 years, traffic intensity in the city is expected to be twice as big as it is now.

3. | According to the author, people with heart problems are not under risk because of
environmental noise levels.

4. | Because of noise-related hormonal changes in pregnant women, their babies can be
born before the expected date.

5. | The WHO’s recommended level of noise in city “sleeping areas” is 35 decibels or
lower.

6. | The level of noise in so called “sleeping areas” cannot be higher than 35 decibels.

~

About 20% of urban residents are surrounded by too much noise.

8. | The writer concludes that with age, fans of loud music are likely to suffer from hearing
damage, which cannot be compensated.




Task 2. Read the text below and decide which word A, B, C or D best fits each space. Write
in the chosen letter in the gaps below

At Home Abroad

Every year tens of thousands of people travel to Britain in order to improve their (9) of
English. For many, however, this can be a difficult and daunting experience as it involves
(10) a strange school, staying in sometimes unpleasant accommodation, and living in an
(11) culture. One (12) to these problems is the Homestay method.
Students, (13) a teacher appropriate to their language requirements and interests, will
stay with him or her in his or her own house for the duration of the course. As well as giving (14)
tuition, the teacher will take the student on trips and provide information about what
interesting activities are (15) locally. The idea behind “Homestay” is total immersion
in English language and culture. Students get between ten and twenty hours of tuition
(16) week and are also expected to (17) in the family’s daily activities. The
students converse in English (18) and learn how to use the language in everyday (19)
. Homestays can also be arranged for those wanting to (20) business or
executive English courses. Students are then (21) with a teacher who is a specialist in
the student’s particular (22) . Courses (23) for up to four weeks and,
although costs are (24) than for normal language summer schools, students can feel
(25) that they will be receiving top-class language teaching in a safe and pleasant
environment.

9. | A. | average B. | height C. | level D. | degree

10. | A. | attending B. | studying | C. | going D. | learning
11. | A. | new B. | strange C. | unusual D. | inexperienced
12. | A. | explanation B. | result C. | solution D. | key

13. | A. | selected B. | chosen C. | taken D. | assigned
14. | A. | individual B. | single C. | double D. | particular
15. | A. | obtainable B. | ready C. | available D. | accessible
16. | A. | in B.|a C.|on D. | of

17. | A. | enjoy B. | participate | C. | enter D. | exclude

18. | A. | at the same time | B. | on time C. | intime D. | all the time
19. | A. | affairs B. | problems | C. | conditions | D. | situations
20. | A. | make B. | be C. | do D. | give

21. | A. | matched B. | doubled C. | equalled D. | fitted

22. | A. | ground B. | way C. | field D. | type

23. | A. | go B. | move C. | range D. | last

24. | A. | wider B. | broader C. | longer D. | higher

25. | A. | confident B. | reliant C. | self-assured | D. | reliable

SECTION II. Structure
Task 3. Choose the most suitable word or phrase to complete each sentence

26. He fix his computer when it broke down.
a.was able to

b.could

c.needed

d.can

27. Being a talented scientist, he never sure about his excellent abilities.



a. has been
b. was being
c. would be
d. had been

28. They built this temple 3,000 years ago. This must a great civilization.
a. was

b. has been

c. have been

d. not have been

29. The policeman asked
a. where do 1 live

b. where was | living

c. where I lived

d. where did I live

30. This time next week we over the Atlantic!
a. have been flying

b. will be flying

c. would have flown

d. will fly

31. You miss the deadline or you’ll have to pay a fine.
a. better not

b. ‘d better

c. ‘d better not

d. had no better

32. They are learning English, and they have much progress!
a. done

b. got

c. made

d. performed

33. When we moved here, this Shopping Mall
a. was already been building

b. has just been built

c. was recently built

d. had already been built

34. Many writers it very difficult to produce a good essay if they haven’t prepared a
detailed plan first.

a. finding

b. find

c. had found

d. found

35. When tornadoes over water, they are called waterspouts.
a. are being occurring

b. are occurred

c. occur



d. have been occurred

36. You vote in Britain until you are 18.

a. have to

b. can

c. aren’t allowed to

d. must

37. Do you think that John this work in time?

a will can finish

b. will be able to finish
c. will able to finish

d. will be able finish

38. The inspector wanted to know my car.
a. was it

b. if it has been

c. has it been

d. if it was

39. When home yesterday?
a. has he come

b. he came

c. did he come

d. has he come

40. a car when they were living in London?
a. Have they got

b. Did they have

c. Were they having

d. Have they had

41. It is worth your mind in these exceptional circumstances.
a. changing

b. to change

c. change

d. being changed

42. now compulsory for all students taking a course in engineering.
a. Statistics are

b. Statistics is

c. Statistic is

d. Statistic are

43. All people have problems from time to time, ?
a.isn’tit

b. aren’t they

c. don’t they

d. haven’t they

44. He remarked that it very cold and offered to close the window.
a.is



b. has been
c. had been
d. was

45. The world faster now than ever before.
a. change

b. was changing

c. changes

d. is changing

46. Unless it raining, the plane will not take off.
a. doesn’t stop

b. stops

c. will stop

d. won’t stop

47. The which have been considered in the previous section us to speculate
on problems that learners might encounter.

a. issues ... allow

b. issue ...allow

c. issues ...allows

d. issue ...allows

48. Food and medical supplies to be delivered to the disaster area.
a. are reporting

b. report

c. are reported

d. have reported

49. The examiner made us our identification in order to be admitted to the test
centre.

a. showing

b. show

c. showed

d. to show

50. After the latest news, everyone realized that some measures should be taken
immediately.

a. discussing

b. having discussing

c. being discussed

d. having been discussed

Task 4. Find the one underlined word or phrase that must be corrected

51. A proficient lecture is the one who can both stimulate and maintain
the audience’s attention.

(1) (2) 3) 4)
52. We have to do it ourself as there are not enough workers to finish it on time.
@ @ 3 4)

53. His speech was a careful worded attempt to evade his responsibility in the matter.

o @ (3) (4)




54.

55.

56.

57.

58.

59.

60.

In spite modern medical technology, many diseases caused by viruses are still not curable.

(1) (2) ©) (4)

The board of directors felt that Clark Weston was more better suited for the position
(1) (2 3)
than William Orly.
(4)
Some of the land nearby is such wet, hot, and covered with jungle that only a few
(1) (@) 3)
people inhabit the area.
(4)
In order to grow well, the Blue Spruce, like other pine trees, require atemperate climate.
(1) @ O (4)

Freud’s ideas have had a great influence on the study of personality, because they are

(1) ) 3) 4

highly controversial.

We couldn’t to repair the car ourselves; that’s why we took it to a garage.
1) ) 3) (4)

There is usually alot of traffics in the city at thistime of the day.

(1) (2) 3) 4)




